. 7]

1

REMARK :
; 1. CHARACTERISTICS :
g;g A£0.25 RATED VOLTAGE: 250V
53 0 RATED CURRENT: 2. 5AMP
8¢ B+0.20 o & CONTACT RESISTANCE: 25mohms MAX. INITIAL,
o5 a C}L N O 40mohms MAX. AFTER.
c?® C+0.20 o H INSULATION RESISTANCE: 5000Mohms MIN.at 500V DC
28 ;i = H B DIELECTRIC STRENGTH: 750VRMS
E H D TYP Y& OPERATING TEMPERATURE RANGE: ~55° C~105° C
£S5 2 - INSERTTON/EXTRACTTON FORCE PER CONTACT: 5N Max. /0. 2N Min.
£E% SH |1 MATING/UNMATING CYCLES: 200MATINGS MIN FOR GOLD-FLASH
:§ . — I 500MATINGS MIN FOR 30u” GOLD.
539 7 2. MATERTAL:
S 0000000 10000000 INSULATORS: THERMOPLASTIC . F(UL94V-0) BLACK
g3 % 28 0F \\% o0 ©6© @—@—, [@@Q 00000 053% CONTACTS: COPPER ALLOY, GOLD (G/F or 30U”) TOP OVER CONTACT
33‘% 00000 EPOO0OOO00O0 %J f AREA, 100u” Min MATTE TIN TOP OVER SOLDER AREA,
.k ! 50u” Min NICKEL UNDER PLATE.
38 1T SHELL: CARBON STEEL, 100u” Min NICKEL TOP OVER,
§3s 1 | 50u” Min COPPER UNDER PLATE.
14 1z I HARPOON: COPPER ALLOY , 100u” Min MATTE TIN PLATED.
$td 3. PART NUMBER DESCRIPTION: 10090929-S XX X X LF
. f [ FO R 2 6 / 44/ 6 2 P seRES No.—1 J I ——
35 N % TYPE FLANGE MOUNTING OPTION
2ef o 5 SO0ET (FeLe) X NG $4-40 clHTS
2T o 11 o L: M3 CUNCHNUTS
‘ o NUMBER OF CONTACTS
238 + H 15, 150
.é - o w O if ﬁ:im CONTACT FINISH
: 2 g o ; 62 62-PN o
i A — ] 7 A
— * 8 POS. PART NO. THREAD TYPE jum
E N - - X |
ow s 15 [10090929-S15*LLF |M3X0.5
g 26 |10090929—-S26*LLF [M3X0.5
k 00, 44 [10090929-S44*LLF |M3X0.5
é x| © 0 62 [10090929-S62*LLF |M3X0.5
F
3] 25 15 _|10090929-S15*XLF |UNC #4—40
s - g 26 [10090929—-S26*XLF |UNC #4—40
A
%E Ml N 44 [10090929—-S44*XLF |UNC #4—40
5
;5 ~ | < 62 [10090929-S62*XLF |UNC #4—40
£z POS. | A B c D E
o8 15 30.81 | 24.99 [16.33 | 2.29 [19.10
H §; 26 39.24 | 33.32| 24.66 | 2.29 |27.75
8 H 44 53.04 | 47.04| 38.38 | 2.29 |41.30
L B
5% 62 69.32 | 63.50| 54.84 | 2.41 |57.40
c mat’l. code tolerances unless 3
§ E otherwise specified CUETO%MYER Fg)
3 35 FOR 15P ltr Jecn no [dr [date X + 0.38 www.feiconnect.com
Eg £ A [109-1156] JH 12/10/09]linear XX _+ 0.25 |[projection title
E5 B [r10-0164] J.H ]0/19/10 XXX £ 0.10 @
§§ g Srgis] i <3| H/D D-SUB FEMALE STRAIGHT
8§33 dr [ JAsON Hsu [ 10/19/10 MM E_oduct family D—SUB code
!; . engr| JASON HsU [10/19/10] — [size[dwg no TWN
3.0 chr | GARY HSIEH | 10/19/10 | scale sheet
£3% appd| JOSEPH HsiA [ 10/18/10 1:1 A4 10090929 105
3§§‘B sheet | revision B[B|B|B[B | [ | I I I | B
‘é-;a index 112374715 | 1 |
z8¢8

"

] | 9 3 | cage code 4 |
ACAD PDM: Rev:B STATUS:RElEﬁ'Sed_meJ. 02, 2010

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

1] 2 I 3 . |

1

REVARK -
X 1. CHARACTERTSTICS :
e £ A+0.25 RATED VOLTAGE: 250V
23 o 9 RATED CURRENT: 2. 5AMP
g8 NI CONTACT RESISTANCE: 25mohms MAX. INTTIAL,
oe . B+0.20 Su IR e 40mohms MAX. AFTER.
P a = 3 g INSULATION RESISTANCE: 5000Mohms MIN. at 500V DC
gg i C£0.20 ol O © DIELECTRIC STRENGTH: 750VRMS
LR o @ OPERATING TEMPERATURE RANGE: —55° C~105° C
H 0 — D TyP — N - INSERTTON/EXTRACTTON FORCE PER CONTACT: 5N Max. /0. 2N Min.
£% o)) Il MATING/UNMATING CYCLES: 200MATINGS MIN FOR GOLD-FLASH
gé; — [N 500MATINGS MIN FOR 30u” GOLD.
38 7 2. MATERIAL:
% gs V/ \\ ©000000 000000 O \} N INSULATORS: THERMOPLASTIC G. F (UL94V-0) BLACK
gf? () 00 60 06; 6606060060 () CONTACTS: COPPER ALLOY, GOLD (G/F or 30U”) TOP OVER CONTACT
58% MO / 00000 POOOO00OO0 j k f AREA, 100u” Min MATTE TIN TOP OVER SOLDER AREA,
g5 [ / 50u” Min NTICKEL UNDER PLATE.
ite \5$C L 1T ) o SHELL: CARBON STEEL, 100u” Min NICKEL TOP OVER,
2o° L= 1 F ol 50u” Min COPPER UNDER PLATE.
R + HARPOON: COPPER ALLOY , 100u” Min MATTE TIN PLATED.
EEE ~ FOR 2 6 / 44 / 62P 2 NUT: COPPER ALLOY , 50u” Min NICKEL PLATED.
§eo o . SQCRTPT .
s . 3. < N: -
: Q o 3. PART NUMBER DESCRIPTION: 10090929-S XX X X LF
2z
g é 2 g r SERIES No.:' L LF: ROHS COMPLIANT
% " : 00| TYPE FLANGE MOUNTING OPTION
L P 1 SOGKET (FMALE) - UNG f4-40 SCREWL0GKS
.é 3 g NUMBER OF CONTACTS
oz2 r . 15 15-P
g E 8. 345 fj:Em CONTACT FINISH
fta ! 2 oz 62-7 5 5o G A
- S —
E N
+H
oN 8 3
'S 3 G
| O
> O T
2% G 5 10.72
P4 IS
% 2 <+ <
8E
H
£ Pos. | A B | ¢c [ o [¢E
o8 15 30.81 | 24.99 [16.33 | 2.29 [19.10
e3 26 | 30.24 | 33.32] 24.66 | 2.20 [27.75
H < 44 53.04 | 47.04| 38.38 | 2.29 |41.30
§ § 62 69.32 | 63.50| 54.84 | 2.41 [57.40
. v
5 mat’l. code tolerances unless H
3 E otherwise specified CUETO%MYER Fg)
3 35 Itr [ecn no [dr [date X + 0.38 www.fciconnect.com
$3 B linear XX_* 0.25__|projection | title
[ § -
z . + 0.
1 g @ €}| /D D-SUB FEMALE STRAIGHT
8§33 dr [ JAsON Hsu [ 10/19/10 MM E_oduct family D—SUB code
!; . engr| JASON HsU [10/19/10] — [size[dwg no TWN
3.0 chr | GARY HSIEH | 10/19/10 | scale sheet
£3% appd| JOSEPH HsiA [ 10/18/10 1:1 A4 10090929 205
2sp sheet | revision [ | 1 I I I B
) 4 5§ index | | [ 1 I I |
58 112 3 cage code 4 |
ACAD PDM: Rev:B sTAaTUS:Reled - 02, 2010

=

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

S

1

e
4 499 63.50
5% $1.20+£0.10 $1.20£0.10
33 I
€8 o
se -
3 @ 0.25 | $3.10£0.10 o 1.205 0.59 |l 93.10£0.10
84 o \ S -
:?,g = olo O Ve = rooooooooocooooooooo
B¢ 4 4R o oo o oG o—
§5§ T 00000 ? 000000000JO0OO00O0O00O
5§23
L 7.67 7.02 7.06 24.69 24.72 7.04
ite 4.83 4.33 ‘
§3¢ ‘
itf
20 P.C.B LAYOUT(FOR 15P
R ( ) P.C.B LAYOUT(FOR 62P)
r
a3
-EE 33.32 47.04
FEL 2.29 A
— —] ﬂ $1.20+0.10 - ?1.20£0.10 —
m | |45 | 145
W S 0.51 - $3.1040.10 z %‘ﬁ $3.1040.10
N = 000GO000 = 000000J000000
3 e ° o oo
>
i3 ? N 00goo0o ‘ - ? U 00000d000000O0
{i 6.99| 9.67 | 8.65_||6.87 6.98 16.54 } 16.66 | 6.86
53 P.C.B LAYOUT(FOR 26P) P.C.B LAYOUT(FOR 44P)
i
L B
°‘§ I
5 T, cod N
e e S ey USTOUR | FC)
‘égé Itr [ecn no [dr [date X + 0.38 COPY www.fciconnect.com
H 3. ] linear XX _* 0.25 _|projection | title
s gg’ e .xxé 120‘10 @ -} |H/D D-SUB FEMALE STRAIGHT PCB
§;8 dr | JASON HSU__ [10/19/10 MM [product fomiy  D—SUB code
ke engr] JASON HsU__[10/19/10 | ————— [size]dwg no TWN
LB chr | GARY AR [10/19/10 [scale Sheet
g’%; appd| JOSEPH HSA_[10/19/10 1.1 A4 10090929 |5 5
2825 sheet [ revision I 1 I 1 I I B
g;a index [ [ 1 [ [ 1 [ T T T 1
z8¢8

"

] | 9 3 | cage code 4 |
ACAD PDM: Rev:B STATUS:RElEﬁ'Sed_meJ. 02, 2010

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

1] 2 I 3 . |

1

14
s
33
] g 6/.16£0.25
° a o\ REMARK :
c 3 Q 6" . " " iOQO O 1. CHARACTERIST
S e [l
5% > H
g : ] 5234i02 Q CONTACT RE! 35mohms MAX. INITIAL,
E N 50mohms MAX. AFTER.
E E e8] —— M 9 INSULATION RESISTANCE: 5000Mohms MIN.at 500V DC
: ‘é O ELECTRIC STRENGTH: 750VRMS
2935 [Nl G 1 RATURE =557 C~105° C
§ ° E a INSERT [RACTION FORCI R CONTACT: 5N Max. /0.2N Min.
3 E § 00000D0DO0DO0O0DO0DO0DODOO MATING/UNMATING CY 0OMATINGS MIN FOR GOLD-FLAS
§’§ 000000000 O0DO0DO0DOO 0000 f% 3 500MATINGS MIN FOR 30u” GOLD.
£33 0000000000000 0000000 | & ~ & TERA
e INSULATORS: THERMOPLASTIC G. F(UL94V-0) BLACK
N 8 g @ 0 @ o o o o @ @ @ Q o o o o o @ Q @ ™ CONTACTS: COPPER ALLOY, GOLD(G/F or 30U”) TOP OVER CONTACT
g é.g 2 AREA, 100u” Min MA’ IN TOP OVER SOLDER AREA,
50u” Min NICKEL UNDER PLATE.
g E % SHELL: ('ARI:(): Sll‘:l}’“:\., 100u” Min NICKF TOP OVER,
<0 50u” Min COPPER UNDER PLATE.
E g HARPOON: (;UI’PI‘,:(l r‘\l.\‘.(ni\ , 100u” Min MAII TE TIN PLATED.
E%E 3. PART NUMBER DESCRIPTION: 10090929-S XX X X LF
E g ) g SERIES NO.: -[ LF: ROHS COMPLIANT
2 § «s O TYPE FLANGE MOUNTING OPTION
3 LI + S SOCKET (FEMALE) X UNG 440 CLNGHNUTS
5238 o o O L: N3 CUNCHNUTS
3% N r)| 00| NUMBER OF CONTACTS
5 S 2 o o| 0| 78: T8-FIN
TERA 3 . 2 oy, A
— 3 = 0| 6 3007 60LD I
E N © ~
on "IN ) i
L L L L Ll Ll
U ‘ —
< I I
3
3 J 1 | 3.12 ‘ 3.12
c @ < O '
£a p= |
M
iz *E 10.10
. o 2.41
a3 ' $1.2040.10 va
2g © e POS.| PART NO. THREAD TYPE
E; 2 ‘ 78 [10090929—S78*LLF [M3X0.5
] )¢} 0400000000000 0O0 78 . ~
o8 )y 0000000000000000000phy e = , 10000520 STRMALTIUNG #4-40
23 U 000000000000 0000O0 : ofh‘:’rﬂl'i‘gjss';’;‘c?gjd CUSTOMER |  FC}
] >
§§§ 00000000 ? 000000000 ltr [ecn no [dr |[date X £ 0.38 CcoPY '// www.fciconnect.com
g 3. 6 7.66 B linear XX_£ 0.25 |projection | fitle
£ . - XXX_£ 0.10 _
‘§§§ 61.11+0.20 e e @Q H/D D-SUB FEMALE STRAIGHT
§:3 dr_|_JASON HSU__ | 10/19/10 MM [product fomly _ D—SUB code
ke P.C.B LAYOUT engr]_JASON HSU | 10/19/10] ——— [size[dwg no TWN
Y chr |_GARY HSEH | 10/19/10]scale sheet
58 appd| _JoSEPH HSA [ 10/19/10 1:1 A4 10090929 |4y 5
2sp sheet | revision [ | 1 I I I B
31 index [ [ 1 [ [ 1 [ T T T 1
< E 2 1 | P 3 | cage code 4 |
ACAD PDM: Rev:B STATUS:RElEﬁ'Sed_meJ. 02, 2010

=

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

1

interdite sous quelque forme que ce soit sans outorisation ecrite du propietaire.
Droits de reproduction FCI.

Tous droits strictement reserves. Reproduction ou communication o des tiers

Propriete de c FCI.

I >

g

Reproduction or issue to third parties in any

Copyright FCI.

form whatever Is not permitted without written authority from the propristor.

I rights strictly reserved.
Property of FCI.
@

"

Downloaded from Elcodis.com electronic components distributor

1 | 2 3
67.16£0.25 o
: 2. 5AMP
% 61.11+0.20 /V JE: 5mohms MAX. INITIAL
= Y 50mohms MAX. AF
: 5000Mohms MIN. at 500V DC
g 52.34+40.2 § TSRS '
] OPERATING TURE. RANG
o —— 2.47 TYP. (y/ INSERTTON 'TON_ FOR
MATING/UNVATING CYCLES: 200MATINGS MIN FOR GOLD-FLASH
o 500MATINGS MIN FOR 30u” GOLD,
2. MATERIAL:
/O O 0 0000000000000 O N INSULATORS: THERMOPLASTIC G.F (UL94V-0) BLACK
000000D0D0DO0DODODO0DO0OO ﬁ\ o CONTACTS: COPPER ALLOY, GOLI or 30U") TOP OVER CONTACT
* W o o @ Q 00000000DO0D0D0D0O0DO0DOCDOO Qy t [E TIN TOP OVER SOLDER AREA,
00000000 0O0DO0DO0DO0DO0DODODOO0O M SHELL:
0)
| HARPOON: w)m; . 100u” Min
N NUT: G A + 50u” Min NICKEL P
o 3. PART NUMBER DESCR
+ "10090929-5 XX X X IF
o~ SERIES 0. T i soms coupn
™~ o e FLONGE MOUNTING OPTION
o (\‘ S: SOCKET (FEMALE) V: UNC #4-4D SCREWLOCKS
— 3 MOMBER oF CoPTAETS
@) CONTACT FINISH
o o o) :
R " - M
ol 3 |
@ o | & A
p " < —
T T - [
& e e e e e e e e e e M —
d U
‘ H
> s 3.12 | 3.12
g M ©
< 10.10
S e
N o
Ml o
2.41
o 91.20£0.10 PART NO.: 10090929—S78*VLF
o
NI O O O OOOO‘OOOOOOOOOO* atT cods o ;
Ny 00000000 YPOOOOOOQ0OC—— ’ ook a4 CUSTOMER )
{ ' 5000000000000 O0OO00 O otherwise specified COPY F:C//J
00000000O000000000 ﬁ ftr ecn no |dr |date X + 038 = _ www.fciconnect.com
? B linear XX _+ 0.25 |projection title
7 g Z.66 XXX £ 0.10 @.@ H/D D-SUB FEMALE STRAIGHT
- 61.1140.20 angles o 22 / _
dr | JaSON Hsu [ 10/19/10 MM E_oduct family D—SUB code
5C.B LAYOUT engr] _JASON HSU__| 10/19/10 size[ dwg no TWN
L. chr | GARY HSIEH | 10/19/10]scale sheet
appd| JoSEPH HsiA [ 10/19/10 1:1 A4 10090929 505
revision I I [T I I I | B
[ [ 1 [ [ 1 [ T T T 1
] | 2 3 | cage code 4 |
ACAD PDM: Rev:B STATUS:RElEﬁ'Sed_meJ. 02, 2010


http://elcodis.com/

